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if (v_count = 0} then
select counti(®)

end if;
end if:
end if;
end if:

if (v_count = 0] then
delete from ARTIKEL where ref = pRef;

elae
--Zur Zeit kenn nur eine Artikelgruppe behandelt werden
v_strpos := instr (pirtikelGrp, ',']:
v_strpos 1 := instr (pArtikelGrp, iE
if (v _strpos = 0) and (v _strpos 1 = 0) then

v grp := pArtikelGrp;
elsif (v _strpos 1 » 0) and (v _strpos > v _strpos 1] then

v_grp substr (pirtikelGrp, 1, v _strpos 1 — 1);
else
v_grp substr (pirtikelGrp, 1, v _strpos - 1];

end if;

into v count from INVENTUR RESULT where REF AR IST = pRef;
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3789

if (v_count = 0] then

gelect count(*) into v count from INVENTUR REZULT where REF AR I3T = pRe

end if;
end if:
end if;
end if:

--Zur Zeit kenn nur eine Artikelgruppe behandelt
v _strpos inste: (¥.grp, et

if (v_strpos > 0) then
v_grp := substr (v _grp, 1, v_strpos - 1):

end if;

werden




